Announcements:
1. Announcements

EECS 70A: Network Analysis



Thevenin’s Theorem

a
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Linear two-terminal circuit
o
b
Equivalent to:
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Source/load

Rsource I/load - Rload source
C Rload + Rsource
VSOUI’CG
Rload
O O Derivation:

\ Y I Case 1:

Thevenin Thm: Rload >> Rsource

Any circuit can be

represented by this Case 2:

equivalent circuit.
>> Rload

source

We say R, .4 “loads down” the source.
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Find Thevenin equivalent circuit:

Example
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Norton’s Theorem

a
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+
Linear two-terminal circuit
o
b
Equivalent to:
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Find the Thevenin & Norton equivalent circuit of the Exa I I l p I e

circuit below with respect to terminalsa and b:
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Find the Thevenin & Norton equivalent circuit of the Exa I I l p I e

circuit below with respect to terminalsa and b:
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“Baby” monster problem

Find the Thevenin & Norton equivalent circuit of the
circuit below with respect to terminals a and b:
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Power

Arrow means R, variable (e.g. by a knob)
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